% “ & Negative eksponenter pa 10

StudentName: _ ExamDate: _  ExamScore:
659,9 x 1072 = 102,7+ 1073 =
107 = 1 x 100D =
147,2 x 10* = 100D =
1 x10= 7% 10% =
136,2 x 1003 = 100D =
7x10 = 822,6x 10 =
5x 1007 = 544,5+ 100 =
679,7+ 107 = 5% 1002 =
1079 = 789, 1+ 1072 =
593,8 x 1003 = 5% 10% =
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% “ & Negative eksponenter pd 10

StudentName: _ ExamDate: _~ ExamScore:
659,9 x 1002 = 6.599 102,7+ 10 = 102700
107 = 0.001 1x10°Y =0.1
147,2 x 10> = 14720 1000 =0.1
1x10=10 7% 10% = 700
136,2 x 10 = 0.1362 1077 = 0.1
7% 10 =70 822, 6 x 10% = 82260
5% 107 = 0.005 544,5+10T% = 5445000
679,7 + 10% = 6.797 5% 107 = 0.05
107 = 0.0001 789, 1+ 1072 = 78910
593,8 x 100 = 0.5938 5% 10% = 500

www.snowmath.com


https://www.snowmath.com

